EARAROBREBRT —5 XN—ZXBISH—F 2024588118 (B) 2@04Li%2H

H¥=z055 28752 USR3EE (BS) (3R &8 [l ® | mewml — | 2 o ®
[AE%] 1 & :15,500,000 @ 2 3#&:6,200,000  ~ 3 3#&:3,900,000 9 4 3% :2,300,000 5 3% :1,550,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o < FIAER : -5-3- WRER (ER)
118111 ISNUW I NIY L 4 5 2% N 1.(5?).6 5-5-3-2 | 36.2(100.3| 12 (423 "E.”Ill%}{’ijli-',
RNT B h—3-31XF T s
S v 5 | BEEEN 1:59.6 1-1-1-1 | 36.4|100.4 | 8 | 448 |E=MER (FR)
215 6|ZUN=FT—R b 750 (NF) g |BEEHZILD
RANT =TI B:IUN—ZTFUV R FPAAAT7—L
= =1~ KEFHRR : -6-6- FEHE GEE
3170 9| 9VINASUY 3| A% 1(75?:)7 6-6-6-4 | 35.8| 99.1 | 4 ?gf mEEaA( )
RiARSKRZ—9 B:UN)LIVT BT 7—LA
- . A0S : -3-3- H)IIEE (E8)
" g| 759757 [B] B4 B 2.?5(;.5 3-3-3-4 [37.1] 92.0 | 3 (4+5(3 N2
R:IvFIWRry s BiRkyId—Jd7—)b =St
PR 3 | mEBRE® 2:00.6 9-9-9-9 [35.790.0 | 1 19 | KAREES (FR)
5 3| FvIII—L " 5.0 @) o | ® YOFL—yyg
RiFXF B:IvIFUFNIR /=Y ITr—1L
o ® HELLESE : -8-8- RERX (FER)
6 7| vERUR 44 B 2(.10/02.)7 8-8-8-7 |35.9| 89.1 | 7 (f?& ﬁ’/??kasﬁ
R:O—RApr+rO7 #S:JsJOR /=Y Tr—I
% 3 | HE 2:00.8 10-10-10-10{ 35.5 | 87.8 | 5 478 | EERUF ER)
7\ 72{10| XA/ D- 55.0 /) o |H8—®
RINAYRAPERTwY 8:FH/T—) JIDSTTF—L
=1)— st 3 | deRR— 2:00.9 7-7-7-7 | 36.4| 87.3 | 2 470 | EPrEE (FR)
8/5/5 NFU—F 53.0 (3/4) (g | THiB
R:K—JEIL #:T7xzU—FzlLAHO B
. P 5 | RS 2:01.1 2-2-2-2 |37.8]87.0 | 6 512 |BE &R
9!8|12| ARYTFEI AL " 58.0 (3/4) © EEnS
RiFAIXTv— BTV NIA(ZVD S—L— - VvV - TF—LERE
= B4 | FEEH 2:01.1 11-11-11-11| 35.6 | 84.9 | 11 | 456 |ERE (ER)
1008 4| PUND=/3 56.0 F9) (a) | OEEEX
RiFIVYTSwT B:FvIFaxNG HBEIT7—LA
= - =aE . 4s5- AR (R
111Uy k29— [B] # o4 | DR 2.?11).3 3-4-5-6 |37.8| 85.2 | 10 ?:(3 Eﬁéy( )
RIN=YITS5A4 B:O4RAFUFP7—F DS
S SN = o4 | EHET 2:01.3 12-12-11-11( 35.7 | 82.9 | 9 500 | dEEZ (EER)
EH 2| YYDV T 58.0 @8 +#6) BRI
RIIET7RA7 Vv ROL—Y #HET7—L
[ BN
En'y 47.9-36.4
NOYIAL | 12.8-11.1-11.7-12.2-12.0-11.9-11.5-11.7-12.1-12.6
@ 11— —B&IEfI
10—+— (+6,12) (1,8)11-9-5-7-3,10-4,2
20—F— (+6,12)8,1,11-9-5-7-3,10-4,2
30—7— (+6,12) (8,11)1-9-5-7,3-10(4,2)
43—F— |6(12,11) (8,9)1(5,7)3-10-(4,2)
o ILRE
BB 1" 12,350 JA R 6-11 17,240/ % 3E 5-8 2,120 3EE 6-9-11 171,140
B B 1 2,140 9-11 9,940H 5 E 6-11 77,240H 3EH 11-6-9| 1,932,970
6 6004 6-9 3,250 =51 1-6 196,890M
9 3004

ABIC OV TRUTEREERRODDZE. THRIIZEL.



